12400 Earl Jones Way

Louisville, KY 40299
rev-a-shelf.com

Customer Service: 800-626-1126

OOy o 3

@YREV-ASHELF

449 BASE ORGANIZER

1 " 2."‘
P -4

Reference for scale

21-5/8"
— | T T/ 7 T/ /e mE e e e A em A s T S eamm e e om A e Tmemm i s mm e e (495 - — — — — — — — — — — - - - - - - - - - - - - - 7 = =

0000 7 . — ,
= (3) screw hole locations

]
1
TOOLS REQUIRED:

Bottom right hand slide

|
|
I
) |
o Flg' 1 | | Place template and mark hole
@ locations for the top left hand slide
c {See Figure 1). Flip the template
0 | and do the same for the bottom
© right hand dlide.
2 |
(¥
: IIEIE |
$ e T
o
ach slides to side and bottom
-.F: @ @ | :fttcabhit usi:lg (6} Currnspat:bdhg
; flat head screws (See Figure 2).
5 I
T |
Q ESTIMATED ASSEMBLY TIME: “
(¥
g | Attach unit to slides
g 20 M I N | {See Figure 3).
°
E‘} System Holes Only /Without System Holes |
< CARE AND MAINTENANCE: FRAMELESS SIOF With Without | CORRESPONDING - R
m WALL THICKNESS | System Holes | System Holes | BLUM SPACER S i ST R
o Clean with a damp cloth and 3/4" M5 x 11.5MM |  #8 x 5/8" N/A | stachdoor g 0 86 17"t
) : |
& wipe parts dry. 5/8" M5 x 14.5MM |  #8 x 5/8" 1/8" Spacer i ke i
3 1/2" M5 x 20MM #8x1" 1/4" Spacer -t e
PARTS LIST Fig. 3 © £ M
; < o
A. (6)#8 x5/8" Flat head screws @ il 2
for 1/8" spacer g -Q e
'R? +
B. () #8 x 1” Flat head screws | =
for 1/4" spacer ® | o
>
C. (6) M5X14.5MM Flat head é | =
Euro Screws* & | S
®
Q
Q
D. (6) Mscsmmy Flat head © @ | N : | a
2L Slide unit into cabinet and | o
E. (4) #6 x 1/2" Door mounting , J attach door. | 3
® | .
. (6) 1/8" slide side spacer g I g
=
G. (6) 1/4" slide side spacer | 3
H. Double-sided ® = | ®
s e-5i tape = o
o | y
* For use with system holes | nE::
o
| B
f
|

— YoNele
== =TT\ 0000

(3) screw hole locations = |

LML 109



